

ABC Bid Data

DISTRICT 5 CHIP SEAL 2022

42443

NON-FEDERAL

PROJECT: DISTRICT 5 CHIP SEAL 2022

STATE PROJECT NUMBER: 42443

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: March 31, 2022, 2:00

SCOPE OF WORK: Roadway preservation (Chip Seal) on Various roadways.

COMPLETION DATE: October 14, 2022

LOCATION: Merrimack, Cheshire, Hillsborough, District 4, District 5

Awarded To: ALL STATES CONSTRUCTION

INC

PO BOX 91

SUNDERLAND, MA 01375

Amount: \$1,739,805.45 Certified by: PETER.E.STAMNAS

Award Date:

Director of Project Development

Summary of Bidders

ContractorBid AmountRankALL STATES CONSTRUCTION INC\$1,739,805.45APO BOX 91, SUNDERLAND MA 01375

ABC Bid Data



DISTRICT 5 CHIP SEAL 2022 42443 NON-FEDERAL

					ı	PS&E	PO	ONSTRUCTION INC BOX 91 AND, MA 01375		
Item N	No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	685.20	\$50.00	\$34,260.00	\$45.00	\$30,834.00	
403.11043	HBP-1/2" SURFACE MIX, MACHINE METHOD	TON	2,057.20	\$85.00	\$174,862.00	\$112.50	\$231,435.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	30,502.40	\$0.25	\$7,625.60	\$0.75	\$22,876.80	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,162.00	\$3.50	\$4,067.00	\$7.50	\$8,715.00	
410.72	CHIP SEAL SURFACE TREATMENT, RUBBER POLYMERIZED (F)	SY	143,687.00	\$5.00	\$718,435.00	\$5.30	\$761,541.10	
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	16,508.00	\$2.45	\$40,444.60	\$2.95	\$48,698.60	
417.	COLD PLANING BITUMINOUS SURFACES	SY	21,844.00	\$2.50	\$54,610.00	\$6.00	\$131,064.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	
618.7	FLAGGERS	HR	690.00	\$35.00	\$24,150.00	\$46.00	\$31,740.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$75,000.00	\$75,000.00	\$70,000.00	\$70,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,000.00	\$8,000.00	\$2,250.00	\$4,500.00	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	433,065.00	\$0.20	\$86,613.00	\$0.18	\$77,951.70	
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	52,798.00	\$1.50	\$79,197.00	\$1.50	\$79,197.00	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	148.00	\$12.00	\$1,776.00	\$12.00	\$1,776.00	
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	148.00	\$5.75	\$851.00	\$6.00	\$888.00	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	197,288.50	\$0.58	\$114,427.33	\$0.50	\$98,644.25	
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	148.00	\$7.00	\$1,036.00	\$3.00	\$444.00	
692.	MOBILIZATION	U	1.00	\$75,000.00	\$75,000.00	\$82,000.00	\$82,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	
					A4 557 054 50		£4 700 005 45	

Totals: \$1,557,854.53 \$1,739,805.45

New Hampshive Department of Transportation

ABC Bid Data

DISTRICT 5 CHIP SEAL 2022

42443

NON-FEDERAL

				PS&E		ALL STATES CONSTRUCTION INC PO BOX 91 SUNDERLAND, MA 01375			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
			Alt. Totals:						
					A4 === 0=4 =0		A4 =00 00= 4=		
	Totals:				\$1,557,854.53		\$1,739,805.45		



PS&E Comparison

DISTRICT 5 CHIP SEAL 2022 42443 NON-FEDERAL

				A-Bide	der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
	CRUSHED GRAVEL FOR SHOULDER	I	<u> </u>					
304.32	LEVELING	TON	685.20	\$45.00	\$30,834.00	\$50.00	\$34,260.00	(\$3,426.00)
403.11043	HBP-1/2" SURFACE MIX, MACHINE METHOD	TON	2,057.20	\$112.50	\$231,435.00	\$85.00	\$174,862.00	\$56,573.00
403.16	PAVEMENT JOINT ADHESIVE	LF	30,502.40	\$0.75	\$22,876.80	\$0.25	\$7,625.60	\$15,251.20
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,162.00	\$7.50	\$8,715.00	\$3.50	\$4,067.00	\$4,648.00
410.72	CHIP SEAL SURFACE TREATMENT, RUBBER POLYMERIZED (F)	SY	143,687.00	\$5.30	\$761,541.10	\$5.00	\$718,435.00	\$43,106.10
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	16,508.00	\$2.95	\$48,698.60	\$2.45	\$40,444.60	\$8,254.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	21,844.00	\$6.00	\$131,064.00	\$2.50	\$54,610.00	\$76,454.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$0.00
618.7	FLAGGERS	HR	690.00	\$46.00	\$31,740.00	\$35.00	\$24,150.00	\$7,590.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$70,000.00	\$70,000.00	\$75,000.00	\$75,000.00	(\$5,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,250.00	\$4,500.00	\$4,000.00	\$8,000.00	(\$3,500.00)
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	433,065.00	\$0.18	\$77,951.70	\$0.20	\$86,613.00	(\$8,661.30)
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		52,798.00	\$1.50	\$79,197.00	\$1.50	\$79,197.00	\$0.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	148.00	\$12.00	\$1,776.00	\$12.00	\$1,776.00	\$0.00

Tuesday, April 5, 2022 Page 4 of 5



PS&E Comparison

DISTRICT 5 CHIP SEAL 2022 42443 NON-FEDERAL

			T	A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	148.00	\$6.00	\$888.00	\$5.75	\$851.00	\$37.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	197,288.50	\$0.50	\$98,644.25	\$0.58	\$114,427.33	(\$15,783.08)
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	148.00	\$3.00	\$444.00	\$7.00	\$1,036.00	(\$592.00)
692.	MOBILIZATION	U	1.00	\$82,000.00	\$82,000.00	\$75,000.00	\$75,000.00	\$7,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00

Total: \$1,739,805.45 \$1,557,854.53 \$181,950.92

Tuesday, April 5, 2022 Page 5 of 5